il
W
St
%
I

1. TE4
THE4 w2 0 1 SR ER L T ITH
T4 e [ IR 5 T P RS
2. THEHNE
1)  HEI4 LM EEFEET TR
2) £ I & SifEoRER T
3) T i 546 H [ H AFfn T4 28 1H
= SFn 84 TH31H
4) TEyE

ELAma  JuN TR )R




Vv = =
FEENFRE s
T4 | B2 0 1 5 RRER T T TH
TSy « TfE - FER B {7 % & A bl iR
HhRE L = 185, 747, 289
THRET 2 185, 747, 289
Hi/E T = 50, 146, 712 | B/ENT 4.8 t
PL SM520C-H 50<t <60 ;
SR L 4 t
PL SM520C-H 45<t=<50 ;
SR L 2 t
PL SM520C-H 40<t <45 ;
BYEI T 0.82 t
PL SM520C 70<t=<80 ;
BYEI T 0.44 t
PL SM520C 60<t=<70 ;
BYEI T 0.45 t
PL SM520C 50<t=<60 ;
BYEI T 1.8 t
PL SM490YB 38<t=40 ;
BRI T 3.1 t
PL SM490YB 35<t=38 ;
BYEI T 7.7 t
PL SM490YB 30<t=35 ;
BYEI T 12.7 t
PL SM490YB 25<t=30 ;
BYEI T 41.7 t
PL SM490YB 6<t <25 ;
BYEI T 88.8 t
PL SM490YA 6<t=<25 ;
BYEI T 0.53 t
PL SM400B 40<t <45 ;
BYEI T 0.98 t
PL SM400A 25<t=<30 ;
BYEI T 34.2 t

Pl SM400A 6<t=25 ;

TAZIEE LN )R




;
T
iy
=
I

&=

THEL | &2 0 1 3R REREMT T

LKy - LA - FER

WAL

%

ﬂlj“

SR L

PL SM400A t=6 ;
SR L

PL SS400 12=<t=25;
SR L

PL SS400 6<t<12 ;
SR L

PL SS400 t=6 ;
SR L

PL SS400 t=4.5 ;
SR L

PL SS400 t<4.5 ;
SR L

CT SS400 144X 204X 12 ;
SR L

CT SS400 118X 178X 10 ;
SR L

CT SS400 95X 152X 8 ;
SR L

L SS400 10X 90X 90 ;
SR L

RB SS400 ¢ 16 ;
by b

TCB S10T M22X 135 ;
by b

TCB S10T M22X 115 ;
by b

TCB S10T M22X 110 ;
by b

TCB S10T M22X 105 ;
by b

TCB S10T M22X 100 ;
by b

TCB S10T M22X 95 ;

=t

=t

=t

=t

=t

=t

0. 02 t
0.44 t
0.07 t
0.03 t
0.04 t
0.03 t
3.7 t
2.9 t
1.9 t
1.3 t
0.34 t

120 #

356 #

40 il

276 #

188 0

316 #

TAZIEE LN )R




PIPE STK400 21.7X1.9 ;

Vvl = =]
FEENFRE s
T4 | B2 0 1 5 RRER T T TH
TEHEX Sy - THE - R B {7 % & A bl A iR
Kbty b 296 #H
TCB S10T M22X90 ;
B vhFy b 1,172 HH.
TCB S10T M22X85 ;
AND T 116 bl
TCB S10T M22X80 ;
Kbty b 16 A
TCB S10T M22X70 ;
AND T 6, 556 bl
TCB S10T M22X65 ;
Kbty b 440 #H
TCB S10T M22X60 ;
Kbty b 728 #H
TCB S10T M22X55 ;
R w4 B 1 X
SS400 4.5X50 ;
Hi/E T = 582,960 | RUENT 2.8 t
PL SM400A 6<t=25 ;
TR AR R T 2 4,704,271 |SAEINT 3.2 t
PL SM400A 6<t=<25 ;
BRI T 1.1 t
PL SS400 t<4.5 ;
SR L 8 t
CH SS400 6X 125X 65 ;
BYEI T 0.52 t
L SS400 6X 75X 75 ;
BYEI T 3.2 t
L SS400 6X65X65 ;
SR L 1 t
L SS400 6X50X50 ;
BYEI T 1.2 t
PIPE STK400 42.7X2.3 ;
BYEI T 0.94 t

TAZIEE LN )R




il
W
>
%%%
I

&=

THEL | &2 0 1 3R REREMT T

LKy - LA - FER WAL

%

ﬂlj“

SR L
FB SS400 9X90 ;
SR L
RB SS400 ¢ 22 ;
SR L
CHPL SS400 t=3.2 ;
by b
HTB F8T M16X50 HDZT49 ;
by b
BN SS400 M16X50 (N, 2W) HDZT49 ;
Vb FRE AR DTy b
BN SS400 M16X45 (UN, 2W) HDZT49 ;
by b
BN SS400 M16X45 (N, 2W) HDZT49 ;
WA SNy
BN SS400 M16X40 (UN, 2W) HDZT49 ;
VN AR DTy b
BN SS400 M10X 35 (UN, 2W) HDZT49 ;
WA SNy
BN SS400 M10X30 (UN, 1W, 1TW) HDZT49 ;
UR™ b= Fy b
UB SS400 M10(32C) HDZT49 ;
UR™ b= Fy b
UB SS400 M10(15C) HDZT49 ;

=t

=t

=

=t

=

=

=

1.

0

48

64

1, 680

180

64

1, 680

2,780

420

840

1

06

i

i

i

i

i

i

i

i

i

MRARRET 2y

1, 030, 852

BYEI T
PL SM400A 6<t=25 ;

SR L
PL SM400A t=6 ;
SR L
PL SS400 t<4.5 ;
SR L
H SS400 175X 175X 7.5X 11 ;

BYEI T
CH SS400 5X 100X 50 ;

76

.01

.14

68

[ 5z

FLIN 7R A =)




;
T
iy
=
I

&=

THEL | &2 0 1 3R REREMT T

LKy - LA - FER

WAL

%

;K\
=
o
=
o
ﬂlj“

BYEI T 0.

CH SS400 5X 75X 40 ;

SR L 0.
L SS400 6X75X75 ;

SR L 0.
L SS400 6X65X65 ;

SR L 0.
L SS400 6X50X50 ;

SR L 0.
PIPE STK400 42.7X2.3 ;

SR L 0.
PIPE STK400 21.7X1.9 ;

SR L 0.
FB $S400 9% 90 ;

SR L 0.
FB $S400 6X90 ;

SR L 0.
FB $S400 9% 50 ;

SR L 0.
FB $S400 4.5X%50 ;

SR L 0.
RB SS400 ¢ 32 ;

SR L 0.
RB SS400 ¢ 22 ;

SR L 0.
CHPL SS400 t=3.2 ;

K Vb fR 1D y b 92
BN SS400 M16X50 (UN, 2W) HDZT49 ;

B VbR 18D y b 236
BN SS400 M16X45 (UN, 2W) HDZT49 ;

K Vb b 6
BN SS400 M16X45 (N, 2W) HDZT49 ;

K Vb b 15

BN SS400 M16X40 (N, 2W) HDZT49 ;

02

09

51

31

14

11

33

01

006

06

008

07

94

i

i

i

i

s [ A

FLIN 7R A =)




Vvl = =]
FEENRE s
T4 | B2 0 1 5 RRER T T TH
TEHEX Sy - THE - R B {7 ¥ = & # il pall 2! R
Kb FE A1k DTy b 8 Az
BN SS400 M16X40 (UN, 2W) HDZT49 ;
K Vb FEA A DTy b 44 Az
BN $S400 M12X35 (UN, 2W) HDZT49 ;
Kbty b 14 A
BN $S400 M12X35 (N, 2W) HDZT49 ;
AN 5N .oy SN 260 HH
BN $S400 M10X35 (UN, 2W) HDZT49 ;
AN 5N .oy SN 534 HH
BN $S400 M10X30 (UN, 1W, 1TW) HDZT49 ;
UK WhFy b 69 HH
UB SS400 M10(32C) HDZT49 ;
U Wh-Fob 134 L
UB SS400 M10(15C) HDZT49 ;
8% A 196 VN
ANCBN SS400 M16X 125 HDZT49 ;
P E RUE L 2 1 556,004 |HfEINT 0.39 t
PL SM400A 6<t<12 ;
BYEI T 0.19 t
PL SM400A t=6 ;
BYEI T 0.12 t
PL SS400 t=6 ;
BYEI T 0. 004 t
FB $S400 9X 125 ;
BYEI T 0. 004 t
FB SS400 6X125 ;
BYEI T 0. 005 t
FB $S400 9% 100 ;
BYEI T 0. 005 t
FB $S400 6% 100 ;
Kbty b 10 A
BN $S400 M16X55 (N, W) HDZT49 ;
Kbty b 12 A
BN $S400 M16X45 (N, W) HDZT49 ;

-6 - E ta2@d Ui




PR AR E s

T
Psi

THEL | &2 0 1 3R REREMT T

THX4y - LfE - A ¥ & & F A il 2! EN
Kbty b 224 HH.
BN SS400 M16X45 (N, 2W) HDZT49 ;
Wby b 182 ]
BN SS400 M16X40 (N, W) HDZT49 ;
Jun7’ VyaT b 80 1
130X 3X 344 ;
Pk E RUE L X 1 62,501 |SAEINT 0.2 t
FB SS400 6X 100 ;
Kbty b 66 A
BN SS400 M16X45 (N, 2W) HDZT49 ;
Kbty b 66 A
BN SS400 M12X35 (N, 2W) HDZT49 ;
8% A 66 VN
ANCBN SS400 M16X 125 HDZT49 ;
s X 1 46, 423,000 | KA KK 3 1
(A1)
A[EhaT A3 BRI J11000kN 5
PIENS T 3 1
(P1)
A[EhaT W3R BRI J12620kN
PIENS T 3 1
(P2)
AT A3 BRI J13570kN
PIENS T 3 1
(A2)
[E " hSK FRX J11270kN 5
TG IFEAR 1 e
B A A4 200 X300X13 ;
THREET = 1 32,800 |AiALER 400 m2
JFART TAL DI
TIRGIET £ 1 34,798,595 | HiALER 3,950 m2
VN7 v
Byfs T i 3, 950 m2
s ARA DS PA N 1 B | E1

-7- E ta2@d Ui




Vv = =
FEENRE b
T4 | B2 0 1 5 RRER T T TH
TEHEX Sy - THE - R B {7 % & # il pall 2! R
A pa—=p 3, 950 m2
UAba—h (zf ¥R IR SRR T8) BEEEER 18
T 3, 950 m2
Ry e 2 ) =525y 5 S 2 N1k 2 e [EI -~ i U ET
T 870 m2
(HE L)
TR AR R N A BEEEE e
g 3, 950 m2
SoRRMIEEE P& RKE ST BRI
1=
k% 3, 950 m2
SoFAMIREE L W SmE BRI
N
THmEET 2 140, 412 | BijQLER 22 m2
MVZAPS VANE S
B£r R Hh 22 m2
HEMEY V) 9T AV BRI 1A ;
A pa—=p 22 m2
VAba—h (zf ¥R IR EREL T8 BEEEER 18
T 22 m2
TR AR REL M A BAEEE 10e]
THREET = 1,182,160 |AiALER 280 m2
MAVZAPS VAVE s
B£r R Hh 280 m2
RV V)T AV BREEEIE LE]
THmEET 2 613,870 | AijALE 170 m2
MVZAPS VANE s
B£r R Hh 170 m2
R V)T AV B3R EIE LA
THREET = 675,520 | AITALER 160 m2
MVZAPS VANE s
B5fr T Hh 160 m2

HEREY V) TN AV b BRAEEIE 18]

TAZIEE LN )R




% Iji] % &=

i

T
P

THEL | &2 0 1 3R REREMT T

TEHX4y « Tfd - FER B Az W B & HH i il A R
THEgET = 1 2,995,800 | Ay¥ 20 t
HDZT77 ;
Pk 8.4 t
HDZT63 ;
Pk 2.4 t
HDZT49 ;
TVEH 2 1 41,801,832 |RUAEEHEHEE 1 F2V
e T 2 1 15, 430, 564
TG T = 1 201, 177, 853
TE g 2 1 30, 860, 424
(T RAEFAT) 2 1 232, 038, 277
HiAE B = 1 156, 766, 452
T 358 ik T = 1 3,691, 120
ik T = 1 3,691, 120 |k 246. 6 t
TIBES 1 =
HFELERR T = 1 126, 687, 925
DRRR T (5 L2ERY) = 1 123,795,499 |&H L% 1 =X
HLSRAMT 1 F2V
LIRS 1 =
% TR A 1 2V
(%]
Hragss 1 F2V
LR RS I F2V
YT £ 1 1,510,920 | KHIa A3 A= 3 1
(AD)
AT B b SR (A B R R) e S I 1000kN

-9 - E ta2@d Ui




|

PR AR E s

THEL | &2 0 1 3R REREMT T

TEHX4y « Tfd - FER B Az ¥ = & #A #m il N BN

K™ WK E 3 &
(P1) [#f#]
A E)T WS A (MR SCRRIR) B K F72620kN

K™ WK E 3 &
(P2) [#f#]
A E)T WA (MR SCRRIR) B K J73570kN

K™ WK E 3 &
(A2)
B8 A3 A (AT B SRR B K J71270kN

Bk 1T Y 1 1, 381, 506 Mﬁmww 10, 668 VN
TR Bl EBIE T Y 1 3,097, 264
BB T Y 1 3,097,264 |FZEHFEEK 220 m2

[ LB 54 m2
HHE V) 9T~ AV (2f8) BEEmI% 1]

IAba=p 220 m2
WAba-b ZEVETR ¥V IR YRR BekbalER 10E]

T 220 m2
YN i 7 (i =y S A A TEI b RN == DI ANTIR A 773
i EE = G NI

FRE 220 m2
SoRBIREEH WE SNminEET BRIk
1=l

k% 220 m2
So ZEREEL Y SMmUSHER BRI 1
[

WA R T Y 1 1, 227, 642

- 10 - E ta2@d Ui




v = =
FEENFRE s
T4 | B2 0 1 5 RRER T T TH
TEHEX Sy - THE - R B {7 ¥ & & # A bl A iR
R T = 1 1,224,090 |7v/h=K Wb 196 N
FRAT 12 m
FRAT 55 m
[#%#]
St T = 1 3,552 | FBIEAR 1 e
B A A4 200 X300X13 ;
G SRR L = 1 12,617,911
a8 1. = 1 7,970,399 | ZEE% 2 1 =
[#%[#]
VARZ Y AR AR EVFY A A
ZRER Y 1 X
T UM o I s
&6 - FEMIE v 87 7y b 1 X
[#%[#]
&S - BHIE Y E57 Iy 1 X
FEE# 1T X 1 1,581,612 |#RiER;# 1 X
[#%[#]
V-1 oRB 1 X
B AR L X 1 3,065,900 | &1 145 1 X
[#%[#]
R 1 X
% T = 1 9, 444, 590
THEHER T = 1 677,110 |8tk 1 =
22X 1,524 X6, 096 (mm) R - ;
B EHT = 1 8,767,480 |ZZiE#HEE( i E 1 =
A
RIE G B 1 X
A [#&H]
RIE G B 1 X
B [#&[H]
RN X =X 1 156, 766, 452
- 11 - E A2 s SN 7




&=

THEL | &2 0 1 3R REREMT T

THEXSy - THE - FE5 H7 % & EiN

BT X 26, 344, 150
e Tre: 2V 3,990, 150

R E20 2,559,350 | FEERRBRAR o fRAH N ik A 1 20

R SE 2 1 X

EsZREgiis ¢ 2V 58,800 | iE FE i A% HAT - VERCE 1 E20
BUGBREIUEL (REH L) 2V 1,372, 000
sty (R L) 2V 22, 354, 000
ol T X 183, 110, 602
TR e gL 2V 70, 677, 000
(L5 5 2V 253, 787, 602
T AT X 485, 825, 879
— i PR 2V 66, 744, 121
N 2V 552, 570, 000

TAZIEE LN )R




